



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{2} \times 4^2 + \frac{1}{5} =$$

$$\left(3 - \frac{3}{2}\right)^2 + \frac{1}{3} \times \frac{1}{2} \times 2^2 =$$

$$\left(4 + \frac{3}{4}\right)^2 - \frac{3}{5} - \frac{1}{6} - 4^2 =$$

$$\left(\frac{3}{4} - \frac{1}{5}\right)^2 - \frac{3}{4}\left(\frac{2}{5} + \frac{1}{3}\right) =$$

$$\left(\frac{2}{3} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{4} - \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{6} + \frac{2}{3}\right)^2 + \frac{1}{2}\left(\frac{3}{4} - \frac{2}{3}\right) =$$

$$\left(\frac{1}{6} + \frac{3}{2}\right)^2 + \frac{2}{5}\left(\frac{1}{2} - \frac{3}{4}\right) =$$

$$\left(\frac{3}{2} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 - \frac{3}{4}\left(\frac{1}{2} + \frac{2}{3}\right) =$$

$$\left(\frac{2}{5} + \frac{1}{4}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$(3 - \frac{3}{5})^2 + \frac{1}{2} \times 4^2 + \frac{1}{5} = \frac{349}{25} = 13\frac{24}{25}$$

$$(3 - \frac{3}{2})^2 + \frac{1}{3} \times \frac{1}{2} \times 2^2 = \frac{35}{12} = 2\frac{11}{12}$$

$$(4 + \frac{3}{4})^2 - \frac{3}{5} - \frac{1}{6} - 4^2 = \frac{1391}{240} = 5\frac{191}{240}$$

$$(\frac{3}{4} - \frac{1}{5})^2 - \frac{3}{4}(\frac{2}{5} + \frac{1}{3}) = (-\frac{99}{400})$$

$$(\frac{2}{3} + (\frac{1}{5})^2) \times \frac{1}{2} + (\frac{1}{4} - \frac{1}{3})^2 = \frac{1297}{3600}$$

$$(\frac{1}{6} + \frac{2}{3})^2 + \frac{1}{2}(\frac{3}{4} - \frac{2}{3}) = \frac{53}{72}$$

$$(\frac{1}{6} + \frac{3}{2})^2 + \frac{2}{5}(\frac{1}{2} - \frac{3}{4}) = \frac{241}{90} = 2\frac{61}{90}$$

$$(\frac{3}{2} + (\frac{1}{3})^2) \times \frac{1}{2} - (\frac{1}{2} + \frac{3}{4})^2 = (-\frac{109}{144})$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{3}{4}(\frac{1}{2} + \frac{2}{3}) = \frac{1}{8}$$

$$(\frac{2}{5} + \frac{1}{4})^2 + \frac{1}{2}(\frac{1}{2} - (\frac{1}{2})^2) = \frac{219}{400}$$